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A.Sy.COS @

Gy Zn=
) A A.SN.COS Q+Pfo+A2.Pry

X 100

0.5x120000%0.8x100

(0/25)

(0/25)

AR

Y = =0
/71 0.5%x120000%0.84+1800+0.52x2400 A)95
—_— SZ ‘

o)1, Forim, (0/25)
120000 _ '
= 200 =173.41 (A) (0/25)

I

1,;% (0/25)
=1324100.23 (A)  (0/25)

1.73
Ng% (0/25)
N=225% = 1000 rpm  (0/25)

N=(1-s)N, (0/25)
=(1-0.05)1000=950 rpm  (0/25)

E,

) P (0/25)
/R%+x§
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E,

o) lF— (0/25)
[
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= 0 =195 (A)  (0125)

(_9(%)2+(1.2)2

o) F=sxf (0/25)

=0.05x 50=2.5 Hz  (0/25)

Yy




p—

) AP,y i AP,-AP, (0/25)
=2500-1400 = 1100 w  (0.25)

) Pi=V3U I cos ¢ (0/25)
=1.73.400.353x0.82=200000 w (0/25)
) Py =Py-Ap, (0/25)
=200000-2500=197500 w (0/25)

o) 11 = -;’—1 100 (0/25)

= 197500 100 =%98.75  (0/25)
200000
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«_ﬂ|)AP(:uS=3Rs.IE (0/25)
=3x 0.05x 100>= 1500 w (0/25)

U) Ap=APCUS+ APCUr+ APfe +mis (0/25)

= 1500+100+250=1850 w (0/25)
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